Run 4533 triggerwise, sums: All
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Eniriza: 2441

Maan: 5344.80082 4 67 4000

Sid Dwrw: 54053370 45 476537
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Run 4533 triggerwise, sums: Beam OFF

Eniries: 0

Meari: 000000 +/- 00000

Sid Dev: 00000 - 0.0000

sum
Run 4533 triggerwise, sums: Beam ON, Laser ON
—— Helicity==0
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— Helicity==1
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5id Derw: 54324380 +'+ BT 6540

Endrias: 3201

Maran: 5102136 + 349027

Sed Dwrw: 5370133 4+~ ET12I8

Run 4533 triggerwise, sums: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




